~
engage™ r

Our Students. Their Moment.

New York State Testing Program
Grade 6 Common Core
English Language Arts Test

Released Questions with Annotations

August 2014




Copyright Information

“The Pit Ponies”: by Leslie Norris. Copyright © 1992 by Leslie Norris. Used by permission
of Dr. Meic Stephens. All rights reserved.

“The Sea Turtle’s Built-In Compass™: Copyright © 2009 Highlights for Children, Inc.
Columbus, Ohio. All rights reserved. Used by permission.

“Ring of Horses”: Reprinted by permission of SPIDER magazine, May/June 2009, Vol. 16,
No. 5, copyright © 2009 by Carus Publishing Company.

From WE WERE THERE TOO!: YOUNG PEOPLE IN U.S. HISTORY © 2001 by Phillip
Hoose. Reprinted by permission of Farrar, Straus, and Giroux, LLC. All rights reserved.

From “Windblown” by Britt Norlander. Published in SCHOLASTIC SCIENCE WORLD,
October 3, 2005. Copyright © 2005 by Scholastic Inc. Reprinted by permission.

From SHACKLETON’S STOWAWAY by Victoria McKernan, copyright © 2005 by
Victoria McKernan. Used by permission of Random House Children’s Books, a division
of Random House, Inc. Any third party use of this material, outside of this publication, is
prohibited. Interested parties must apply to Random House, Inc. for permission.

From IN CAVERNS OF BLUE ICE by Robert Roper. Copyright © 1991 by Robert Roper.
By permission of Little, Brown and Company. All rights reserved.

Developed and published under contract with the New York State Education Department by NCS Pearson, Inc., 5601 Green
Valley Drive, Bloomington, Minnesota 55437. Copyright © 2014 by the New York State Education Department. All rights reserved.
This publication may be reproduced or transmitted for the purpose of scoring activities authorized by the New York State Education
Department.



THE STATE EDUCATION DEPARTMENT / THE UNIVERSITY OF THE STATE OF NEW YORK /
ALBANY, NY 12234

New York State Testing Program
Grade 6 Common Core
English Language Arts Test

Released Questions with Annotations

With the adoption of the New York P-12 Common Core Learning Standards (CCLS) in ELA/Literacy and
Mathematics, the Board of Regents signaled a shift in both instruction and assessment. Starting in the Spring
2013, New York State began administering tests designed to assess student performance in accordance with
the instructional shifts and the rigor demanded by the Common Core State Standards (CCSS). To aid in the
transition to new assessments, New York State has released a number of resources, including test blueprints
and specifications, sample questions, and criteria for writing assessment questions. These resources can be
found at http://www.engageny.org/common-core-assessments.

New York State administered the ELA/Literacy and Mathematics Common Core tests in April 2014 and is now
making a portion of the questions from those tests available for review and use. These released questions will
help students, families, educators, and the public better understand how tests have changed to assess the
instructional shifts demanded by the Common Core and to assess the rigor required to ensure that all students
are on track to college and career readiness.

Annotated Questions Are Teaching Tools

The released questions are intended to help educators, students, families, and the public understand how the
Common Core is different. The annotated questions demonstrate the way the Common Core should drive
instruction and how tests have changed to better assess student performance in accordance with the
instructional shifts demanded by the Common Core. They are also intended to help educators identify how
the rigor of the State tests can inform classroom instruction and local assessment. To this end, these annotated
questions will include instructional suggestions for mastery of the CCLS. The annotated questions will include
both multiple-choice and constructed-response questions. With each multiple-choice question released, a
rationale will be available to demonstrate why the question measures the intended standards; why the correct
answer is correct; and why each wrong answer is plausible but incorrect. Additionally, for each constructed-
response question, there will be an explanation for why the question measures the intended standards and an
annotated rubric with sample student responses that would obtain each score on the rubric.

Understanding ELA Annotated Questions

Multiple Choice

Multiple-choice questions are designed to assess Common Core Reading and Language Standards. They will
ask students to analyze different aspects of a given text, including central idea, style elements, character and
plot development, and vocabulary. Almost all questions, including vocabulary questions, will only be
answered correctly if the student comprehends and makes use of the whole passage. For multiple-choice
questions, students will select the correct response from four answer choices.

Multiple-choice questions will assess Reading Standards in a range of ways. Some will ask students to analyze
aspects of text or vocabulary. Many questions will require students to combine skills. For example, questions



may ask students to identify a segment of text that best supports the central idea. To answer correctly, a
student must first comprehend the central idea and then show understanding of how that idea is supported.
Questions will require more than rote recall or identification. Students will also be required to negotiate
plausible, text-based distractors!. Each distractor will require students to comprehend the whole passage.

The rationales describe why the distractors are plausible but incorrect and are based in common
misconceptions regarding the text. While these rationales will speak to a possible and likely reason for
selection of the incorrect option by the student, these rationales do not contain definitive statements as to why
the student chose the incorrect option or what we can infer about knowledge and skills of the student based
on their selection of an incorrect response. These multiple-choice questions were designed to assess student
proficiency, not to diagnose specific misconceptions/errors with each and every incorrect option.

The annotations accompanying the multiple-choice questions will also include instructional suggestions for
mastery of the CCLS measured.

Short Response

Short-response questions are designed to assess Common Core Reading and Language Standards. These are
single questions in which students use textual evidence to support their own answer to an inferential question.
These questions ask the student to make an inference (a claim, position, or conclusion) based on his or her
analysis of the passage, and then provide two pieces of text-based evidence to support his or her answer.

The purpose of the short-response questions is to assess a student’s ability to comprehend and analyze text. In
responding to these questions, students will be expected to write in complete sentences. Responses should
require no more than three complete sentences

The rubric used for evaluating short-response questions can be found both in the grade-level annotations and
in the Educator Guide to the 2014 Grade 6 Common Core English Language Arts Test at
www.engageny.org/resource/test-guides-for-english-language-arts-and-mathematics.

Extended Response

Extended-response questions are designed to measure a student’s ability to Write from Sources. Questions
that measure Writing from Sources prompt students to communicate a clear and coherent analysis of one or
two texts. The comprehension and analysis required by each extended response is directly related to grade
specific reading standards.

Student responses are evaluated on the degree to which they meet grade-level writing and language
expectations. This evaluation is made using a rubric that incorporates the demands of grade specific Common
Core Writing, Reading, and Language standards. The integrated nature of the Common Core Learning
Standards for ELA and Literacy require that students are evaluated across the strands (Reading, Writing, and
Language) with longer piece of writing such as those prompted by the extended-response questions.

The information in the annotated extended-response questions focuses on the demands of the questions and
as such will show how the question measures the Common Core Reading standards.

The rubric used for evaluating extended-responses can be found both in the grade-level annotations and in
the Educator Guide to the 2014 Grade 6 Common Core English Language Arts Test at
www.engageny.org/resource/test-guides-for-english-language-arts-and-mathematics.

1 A distractor is an incorrect response that may appear to be a plausible correct response to a student who
has not mastered the skill or concept being tested.



These Released Questions Do Not Comprise a Mini Test

This document is NOT intended to show how operational tests look or to provide information about how
teachers should administer the test; rather, its purpose is to provide an overview of how the new test reflects
the demand of the CCSS.

The released questions do not represent the full spectrum of standards assessed on the State tests, nor do they
represent the full spectrum of how the Common Core should be taught and assessed in the classroom.
Specific criteria for writing test questions as well as additional assessment information is available at
www.engageny.org/common-core-assessments.
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Key: B

MEASURES CCLS: RL.6.2:

Determine a theme or central idea of a text and how it is conveyed through particular details; provide a
summary of the text distinct from personal opinions and judgments.

HOW THIS QUESTION MEASURES RL.6.2:

This question measures RL.6.2 because it asks students to show understanding of a central idea of the poem.
The idea that the ponies are at first frightened because they are unfamiliar with the world above ground due
to a lifetime spent in underground mines is central to the poem. Students selecting a correct response
demonstrate an understanding of a central idea of the poem as it is conveyed through particular details.

WHY CHOICE “B” IS CORRECT:

Students selecting “B” show understanding of the central idea of the poem: the pit ponies are scared of the
world above ground because it is unfamiliar. Line 4 states that the ponies “have been too long in the blind
mine,” while line 7 says, “they do not understand the grass.” These details establish an unfamiliarity with their
new surroundings. Lines 4 through 14 describe the world of the underground mine that they do know, and
lines 15 through 17 explain that they are now in “sun and real air,/Which are strange to them.” Life above
ground is unfamiliar because the ponies have spent their lives below ground in pit mines.

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” believing the ponies’ fearfulness stems from being unable to see
where they are going. Students may have inferred that the ponies cannot see because the text reads, “blind
mine” in line 4. This line does not mean the ponies are blind but rather describes the experience of being in
the mine. In lines 18 and 19 the poet also writes “they/Do not expect to see very far,” but these lines describe
the limited distance the ponies could see in the darkened environment of the mines. In line 3, the ponies are
above ground and are able to see far ahead.

Choice C: Students may have chosen “C” because line 1 reads “shyly,” meaning that the ponies seem
uncomfortable; however, the text does not allude to the ponies being uncomfortable with one another. Also,
in lines 17 and 18, the ponies “are humble/And modest, their heads are downcast,” which supports the idea
that they are uncomfortable. The text makes it clear though that the ponies’ fear is of the unfamiliar world
above ground.

Choice D: Students may have chosen “D” because the pit ponies are unfamiliar with these new surroundings
and the reason for their emergence from the mine is not explained in the poem. However, the poet does not
focus on this uncertainty as the cause of the ponies’ fear. Most of the poem supports their fear as coming from
their lack of familiarity with the world above ground.



HOW TO HELP STUDENTS MASTER RL.6.2:

Choices “A,” “C,” and “D” present inferences that have varying support in the poem about why the ponies are
frightened, but only the conclusion in “B” is well-supported. “A” and “C” are reasonable but lack evidence in
the poem to support them. “D” indicates a legitimate inference, but little of the poem is spent raising or
addressing why the ponies are no longer in the mine. To help students succeed with questions measuring
RL.6.2, instruction can focus on building students’ capacity to comprehend grade-level complex texts and
activities and discussions that ask students to link specific details to central themes or ideas in a poem or
other text.



Key: B

MEASURES CCLS: RL.6.2:

Determine a theme or central idea of a text and how it is conveyed through particular details; provide a
summary of the text distinct from personal opinions and judgments.

HOW THIS QUESTION MEASURES RL.6.2:

This question measures RL.6.2 by asking students to identify the central theme of the poem. Students selecting
the correct response are able to use the details of the poem to determine its essential message based on
details from the poem.

WHY CHOICE “B” IS CORRECT:

Students selecting “B” are able to link specific details and sections from the poem to its central message. In
lines 4-15, the poem describes the limited lives led by the ponies in the underground mines. In lines 16-19, the
poem describes their unfamiliarity with the world above ground. Beginning in line 19, a shift occurs where the
author describes the ponies rediscovering how to gallop in the open field. In line 29, the ponies are “galloping
in freedom,” establishing that they have found freedom in their new surroundings, away from the dark and
closed mines. The central theme of this series of descriptions, supported by the stark contrast in the mood and
the descriptive language between the first and second halves of the poem, is the thrill of newfound freedom.

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students selecting “A” show an understanding of the positive outcome for the ponies indicated by
“the appeal of discovering” as the ponies adjust to the world above ground. However, the poem describes
the ponies as remembering running above ground before (lines 20-24), so they are not discovering anything
“unknown.” Furthermore, the poem’s contrast of life below and above ground focuses on a discovery of
freedom (line 29), making “B” the most accurate choice.

Choice C: Students may have chosen “C” because the change to the ponies’ world (lines 15-30) could point
to a more positive future. The poem, however, does not articulate any “promise,” nor does it mention the
future of the ponies.

Choice D: Students may have chosen “D” because the poem includes positive language about the “sun and
real air,” and “joy in the clean grass.” These details, however, are secondary to the overall theme of the
ponies’ change from startled to “galloping in freedom.”



HOW TO HELP STUDENTS MASTER RL.6.2:

Choices “A,” “C,” and “D” all present reasonable inferences about the central message of the poem, but only
“B” accurately captures the poem’s theme. To help students succeed with questions measuring RL.6.2,
instruction might focus on building students’ capacity to comprehend grade-level complex texts and
developing statements about a central theme or claim by looking closely at textual details throughout a
poem. This may be done by naming a topic or a feeling, then asking what the poet or author is trying to say
about that topic or feeling.



Key: D

MEASURES CCLS: RL.6.1:

Cite textual evidence to support analysis of what the text says explicitly as well as inferences drawn from the
text.

HOW THIS QUESTION MEASURES RL.6.1:

This question measures RL.6.1 because it asks students to explain the meaning of a specific situation in the
text based on evidence present in the text. A student selecting the correct answer shows an ability to use
textual evidence to understand what the text implies.

WHY CHOICE “D” IS CORRECT:

Students selecting “D” have used textual evidence to arrive at a full understanding of the meaning of a line of
the poem. The poet describes how “Their hooves have trodden only stones/And the soft, thick dust of fine
coal” (lines 5 and 6) and “their walking/Has been along the one, monotonous/Track of the pulled coal-trucks”
(lines 10 through 12). Because the ponies are used to walking on stones, dust, and track, grass has become
unfamiliar to them and they do not “understand” it.

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because the poem describes a harsh existence where the ponies
“have trodden only stones/And the soft, thick dust of fine coal” (lines 5 and 6), and “have bunched their
muscles against/The harness” (lines 13 and 14). Although the ponies are described as “ghosts” (line 1) and
the conditions they have been living in are described in unappealing terms, the poem presents no evidence
that the ponies are sick from breathing in coal dust.

Choice B: Students may have chosen “B” because the poem describes in lines 20-24 how the ponies have
distant memories of this scenario, implying that they may be old. But these lines also establish that the ponies
remember well what to do and are quickly rolling and galloping outside.

Choice C: Students may have chosen “C” because the poem describes the ponies pulling coal-trucks (line
12) and have “bunched their muscles against/The harness and pulled, and hauled (lines 13 and 14). The
poem also describes how the ponies are initially clumsy in learning how to gallop (line 20). But there is no
evidence that pulling coal-trucks has injured them and that this is why they do not “understand” what grass is.

HOW TO HELP STUDENTS MASTER RL.6.1:

To help students master questions that measure RL.6.1, instruction might focus on building students’ capacity
to comprehend grade-level complex texts and providing guiding questions and instructing students to locate
textual evidence to support interpretive and analytical statements made about texts.



Key: C

MEASURES CCLS: RL.6.4:

Determine the meaning of words and phrases as they are used in a text, including figurative and connotative
meanings; analyze the impact of a specific word choice on meaning and tone.

HOW THIS QUESTION MEASURES RL.6.4:

This question measures RL.6.4 because it asks students to interpret a simile. Students selecting the correct
response show an ability to understand the full meaning of a simile as it is used in the poem.

WHY CHOICE “C” IS CORRECT:

Students selecting “C” demonstrate the ability to identify qualities of the ponies that fit with ideas about what
ponies emerging from a pit mine might be like, based on the poet’s descriptions. Describing the ponies as
ghost-like horses suggests the ponies are weakened or at least changed versions of their former selves, not
fully alive and not fully ponies. As the ponies reacquaint themselves with the grass and galloping, they undergo
a change from their time in the mine. This suggests that working in the mines changed the ponies. Given that
the other choices use the words fierce, sick, and covered with dust, all of which are details that are not
included in the poem, the choice that describes the ponies as changed is the best option.

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because the poem describes the difficult labor the ponies did in the
mines. However, the poem does not describe the ponies as fierce. Rather, the poem uses words such as
“shyly,” “humble and modest,” and “clumsy” to describe the ponies in the outside world. Thus, the simile “like
ghosts of horses” cannot be connected to the ponies being fierce.

Choice B: Students may have chosen “B” because the poem describes the physical condition the horses
experienced in the mines (lines 4-14). These include hauling coal-filled sleds in dark and dusty conditions. The
poem does not say though that the ponies were ever sick because of these conditions, nor any other reasons.
Although it may be inferred that sickness may lead to a ghostly appearance, the idea that the ponies were |ll
from their time in the mines is not supported by the poem.

Choice D: Students may have chosen “D” because the text describes how the ponies have walked only on
“soft, thick dust of fine coal” (line 6) and inferred that the ponies looked like ghosts. The poem does not say
that the ponies are covered in dust, nor does it use any descriptive language that alludes to the ponies
looking dreadful due to the dust.



HOW TO HELP STUDENTS MASTER RL.6.4:

Choices “A,” “B,” and “D” present interpretations of the simile “like the ghosts of horses” that may refer to
details in the poem, but do not accurately interpret the meaning of the phrase. To help students succeed with
questions measuring RL.6.4 and analyzing similes, instruction can focus on building students’ capacity to
comprehend grade-level complex texts and analyzing possible qualities that bridge the two subjects being
compared in the simile, then eliminating those qualities that are not plausible or supported by textual details.



Key: C

MEASURES CCLS: RL.6.5:

Analyze how a particular sentence, chapter, scene, or stanza fits into the overall structure of a text and
contributes to the development of the theme, setting, or plot.

HOW THIS QUESTION MEASURES RL.6.5:

This question measures RL.6.5 by asking students to consider why the author has included the details present
in a particular section of the poem and how those details fit into the development of the poem. A student
selecting the correct response demonstrates an understanding of how details from part of the poem lead to
an understanding of the poem as a whole.

WHY CHOICE “C” IS CORRECT:

Students selecting “C” demonstrate an understanding of how the details in lines 19 through 24 in the poem
contribute to the meaning of the poem. Lines 20-21 read, “It is/Something that he could do when he was very
young,” inferring that the pony had once experienced the freedom to run in a field and reveal to the reader
that the ponies have not spent their entire lives in the pit mines. The details in lines 19-24 contrast with the
description the poem gives of the ponies’ lives in the mines, where they only walk on a “monotonous track”
(lines 11-12) and cannot see the light of the sun. The fact that the ponies had once run in the outdoors reveals
that they are returning to their more natural state.

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: A student selecting “A” has made a valid inference that is supported by the text; however, the text
does not fully support the inference. While the poem does suggest that the ponies enjoy their galloping in the
fields, lines 19-24 communicate to the reader that they had done this before. These lines serve as a transition
from the description in lines 4-14 of their experience in the mines to the latter lines of the poem that describes
their freedom.

Choice B: Students may have chosen “B” because the poem indeed describes how a lone pony relearns how
to run and gallop; however, the lines carry even greater importance as they reveal that the pony has done this
before. This information is new to the reader and reveals that the ponies are doing something that “was once
natural.” These details are meant to illustrate the general experience of all the emerging ponies and contribute
to the theme of rediscovered freedom.

Choice D: Students may have chosen “D” because the author singles out one pony that discovers how to run
again. The poem continues to describe another pony rolling on the grass and ends with all the ponies
galloping together. Rather than demonstrating the intelligence of one pony, the author clues in the audience
to the fact that these ponies had experienced this kind of freedom before.



HOW TO HELP STUDENTS MASTER RL.6.5:

While choices “A,” “B,” and “D” do refer to textual details in the stated lines, only “C” accurately captures the
importance of the lines in the context of the entire poem. To help students succeed with questions measuring
RL.6.5, instruction can focus on building students’ capacity to comprehend grade-level complex texts and on
how specific details help the reader understand a main theme in a poem or text. Instruction might also focus
on how an author chooses to include certain details at specific places in a text and analyze the impact of
these choices on a reader’s understanding of the text and the text itself.

10



Key: B

MEASURES CCLS: RL.6.4:

Determine the meaning of words and phrases as they are used in a text, including figurative and connotative
meanings; analyze the impact of a specific word choice on meaning and tone.

HOW THIS QUESTION MEASURES RL.6.4:

This question measures RL.6.4 because it asks students to determine the meaning of a figurative phrase.
Students selecting the correct response demonstrate the ability to identify an accurate interpretation of a
phrase by using textual details.

WHY CHOICE “B” IS CORRECT:

Students selecting “B” demonstrate the ability to link the figurative phrase “happy thunder” in line 28 to textual
details surrounding the phrase. In line 27, the poet describes how the ponies relearn to gallop in the field.
Immediately following this line, the author uses the phrase “happy thunder.” The author uses the word
“thunder” to describe a loud sound, in this case the horses running. The author also qualifies the word
“thunder” with “happy,” which tells the reader that the word is being used figuratively as thunder itself cannot
be happy.

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because the word “thunder” is often associated with a storm. The
author uses the term figuratively, which is evident because of the use of the word “happy” to describe the
“thunder.” Together, the words form a figurative rather than a literal phrase to describe the contentment of the
horses as they make a loud noise galloping across the field.

Choice C: Students may have chosen “C” because one of the poem’s settings is a mine. Although trucks in a
mine would produce a loud sound, trucks are never mentioned in the poem. This section of the poem describes
ponies learning how to run and not sounds in a mine. Also, “trucks in the mine” would not explain the author’s
use of “happy.”

Choice D: Students may have chosen “D” because line 25 depicts a pony “on her back with joy in the clean
grass!” While this line would certainly account for the author’s use of “happy” in line 28, it does not account for
the use of “thunder.” Rolling in the grass would not produce the kind of sound that warrants the term “thunder,”
making “B” the best choice.

HOW TO HELP STUDENTS MASTER RL.6.4:

Choices “A,” “C,” and “D” all present options which account for part of the description, “happy thunder,” but
only “B” fully explains the meaning the poet most likely intended within the context of the poem. To help
students succeed with questions measuring RL.6.4, instruction can focus on building students’ capacity to
comprehend grade-level complex texts and linking figurative language to words and details surrounding the
phrase in order to determine its meaning.

11



D irections
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Key: D

MEASURES CCLS: RI.6.2:

Determine a central idea of a text and how it is conveyed through particular details; provide a summary of the
text distinct from personal opinions or judgments.

HOW THIS QUESTION MEASURES RI.6.2:

This question measures RI.6.2 because it asks students to determine which detail is most helpful for
understanding the central idea. The central idea concerns the inherent, internal magnetic navigation system
that loggerhead turtles use to find their way from any place in the world. Students selecting a correct response
demonstrate an understanding of a central idea as conveyed through particular details.

WHY CHOICE “D” IS CORRECT:

Students selecting “D” show an understanding of the central idea of the article: how the built-in compass
helps loggerhead turtles find their way throughout the world. Students selecting this answer understand that,
to find how the turtles navigate, scientists need to compare what they know about the turtles to other animals.
Lines 20 through 24 present other animals that scientists know can detect magnetic fields like the turtles do,
while lines 40-50 present experiments that explore this ability.

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because lines 29 through 50 describe experiments testing
Lohmann’s hypothesis about loggerheads setting their internal compasses based on environmental cues, in
this case the light on the horizon as it appears to loggerheads hatched in eastern Florida. However, the text is
clear that navigation is an inherent property for turtles and, as such, is not dependent on the location of the
turtles’ birth.

Choice B: Students may have chosen “B” because lines 7 and 8 state that loggerheads prefer warm waters
where they know they will find food. This fact refers more to the turtle’s memory and its ability to find any place
it has been one time. So, turtles will remember where abundant food sources are. However, this textual detail
is minor, as the rest of the article does not discuss feeding habits, but focuses on the turtle’s navigation ability.

Choice C: Students may have chosen “C” because line 55 states that Dr. “Lohmann’s work has led others to
protect the loggerheads’ habitat.” Line 56 lists some possible ways that a turtle might become confused after
it hatches, but this fact does not help a reader understand the central idea of the article - how the turtles are
able to navigate using their magnetic sense of direction.

14



HOW TO HELP STUDENTS MASTER RI.6.2:

Choices “A,” “B,” and “C” present facets of the central idea about how loggerhead turtles learn to use their
magnetic guidance system, but only “D” exhibits an aspect that is necessary to understanding how
loggerheads navigate differently. To help students succeed with questions measuring RI.6.2, instruction can
focus on building students’ capacity to comprehend grade-level complex texts and activities and discussions
that ask students to identify specific details in a text that relate to a central idea.

15



Key: D

MEASURES CCLS: RI.6.5:

Analyze how a particular sentence, paragraph, chapter, or section fits into the overall structure of a text and
contributes to the development of the ideas.

HOW THIS QUESTION MEASURES RI.6.5:

This question measures RI.6.5 because it asks students to show understanding of how a particular section is
important to the article overall. Lines 9 through 13 explain why the turtle’s sense of direction is important to its
survival. Students selecting a correct response understand that the section explains the importance of memory
to sea turtles.

WHY CHOICE “D” IS CORRECT:

Students selecting “D” show an understanding of how a section of a text fits into the structure and meaning of
the whole text. The passage explains how turtles are able to find their “way from any place on Earth” (line 6).
Lines 9 through 13 establish that this trait must be nurtured from the moment the turtles hatch. This connects
with a subsequent discussion (lines 16-19) that link the section in the question with the overall point of the
passage.

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because line 10 establishes that female turtles will lay their eggs on
the same beach where she was hatched. This establishes a pattern of inherent behavior in the turtles. Students
may have inferred that the section shows how females lay their eggs; however, it explains why the magnetic
sense of direction is so important to turtles—so they can return to the beaches where they were born.

Choice B: Students may have chosen “B” because the lines specify that turtles return to the beaches where
they hatched. However, the text does imply that the turtles return to their hatching place because they prefer
certain types of beaches. It does mean that their magnetic sense of direction allows them to find the beaches
where they hatched in order to lay their own eggs.

Choice C: Students may have chosen “C” because they inferred that turtles may have to travel long distances
to return to their native hatching place. While the text does mention that these “turtles swim thousands of miles
each year,” it does not clarify that they swim such distances due to their memory. Lines 9 through 13 show how
important the turtle’s sense of direction is to the species’ survival, not how far a turtle has to travel to return to
its place of birth.

HOW TO HELP STUDENTS MASTER RI.6.5:

To select choice “D” students must recognize the way lines 9-13 relate to the overall point of this passage.
Choices “A,” “B,” and “C” are based on inferences that are not supported by direct textual evidence. To help
students succeed with questions measuring RI.6.5, instruction can focus on building students’ capacity to
connect sections of a text to the structure of the text and the overall development of ideas.

16



Key: B

MEASURES CCLS: RI.6.1.:

Cite textual evidence to support analysis of what the text says explicitly as well as inferences drawn from the
text.

HOW THIS QUESTION MEASURES RI.6.1:

This question measures RI.6.1 because it asks students to determine what the text states explicitly. Students
must recognize that unlike other animals, baby turtles must learn how to use their magnetic sense of direction
without the help of adults.

WHY CHOICE “B” IS CORRECT:

Students selecting “B” show an understanding of the difference between baby turtles and other animals that
use magnetic sense is that the turtles do not have an adult to learn from (lines 25-26). When the turtles hatch,
they are on their own. Their instincts will guide them to the water. Lines 5 and 6 explain that the turtles’
magnetic sense guides them in the correct direction. Lines 12 and 13 explain that the baby loggerheads must
figure out where they are the moment they hatch. Line 27 tells readers that the turtles “are abandoned as

eggs.”

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because the text states that loggerhead turtles are born at night
(line 31). However, that is not the reason they learn differently from other animals. The text establishes that
since they are abandoned, they have no adults to serve as models of behavior.

Choice C: Students may have chosen “C” because the turtles’ environment encompasses both land and sea.
Lines 3 and 4 raise the question of difficulty of finding one’s bearings in the middle of an ocean. Lines 5 and 6
explain that loggerheads, because of their magnetic sense, can. Students may have inferred that learning to
live on land and in the ocean is learning differently. However, lines 25 through 27 explain that the turtles are
abandoned as eggs, and when they hatch, they have no adults to teach them.

Choice D: Students may have chosen “D” because the text states that the hatchlings use their surroundings to
learn how to us their magnetic sense (lines 31-54). Their surroundings when they hatch are the beaches,
where they are near enough to the water to find their bearings. This is not, however, the reason why they learn
differently. When they hatch, they do so alone with no adult guidance, which makes them different from other
animals.
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HOW TO HELP STUDENTS MASTER RI.6.1:

Choices “A,” “C,” and “D” present information that relates to the text, but only “B” states the reason that
loggerheads learn differently. To help students succeed with questions measuring RI.6.1, instruction can focus
on building students’ ability to comprehend grade-level complex texts and identifying specific, relevant
evidence that supports an analysis of what the text says explicitly as well as inferences drawn from the text.
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Key: D

MEASURES CCLS: RI.6.3:

Analyze in detail how a key individual, event, or idea is introduced, illustrated, and elaborated in a text (e.g.,
through examples or anecdotes).

HOW THIS QUESTION MEASURES RI.6.3:

This question measures RI.6.3 because it asks students to identify an event that helps illustrate a key idea in the
text. To answer correctly, students must recognize the way a specific example of the text’s central idea is
developed through the scientist’s experiment.

WHY CHOICE “D” IS CORRECT:

Students selecting “D” show an understanding of a link between the result of the experiment (lines 53-54) and
the central idea in the passage (how turtles navigate). The experiment shows how light cues help the turtles
set their built-in compass (lines 43 through 49). Lines 53 and 54 conclude that following the cues helps the
turtles set their magnetic sense.

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because line 43 explains that turtles swam toward the light wherever
it was, and when the magnetic fields were reversed (lines 45 and 46), the turtles adapted quickly to the
change in magnetic fields. However, the experiment was not to see how quickly they adapted or learned new
behaviors, but to see what triggers those behaviors since they have no adult role models.

Choice B: Students may have chosen “B” because the tank the scientists created mimicked the Earth’s
magnetic field (lines 40 and 41). However, the experiment’s purpose was to ascertain how turtles learned
behaviors without adult role models to follow, not whether they could re-create the turtles’ habitat.

Choice C: Students may have chosen “C” because the turtle eggs usually hatch on the beach, but scientists
tried re-creating the habitat (lines 37 through 43) to see how turtles knew which way to go toward the water in
total darkness, not to find where on the beach the eggs hatch.

HOW TO HELP STUDENTS MASTER RI.6.3:

To select Choice “D” students must recognize the connection between the purpose of the scientist’s experiment
and the overall point in the passage. Choices “A,” “B,” and “C” present aspects of the experiment that are not
directly related to the overall point of the text or lack textual support. To help students succeed with questions
measuring RI.6.3, instruction can focus on building students’ capacity to comprehend grade-level complex
texts and activities and discussions that ask students to analyze how key individuals, ideas, or events are
introduced, illustrated, or elaborated through examples.

19



Key: B

MEASURES CCLS: RI.6.1:

Cite textual evidence to support analysis of what the text says explicitly as well as inferences drawn from the
text.

HOW THIS QUESTION MEASURES RI.6.1:

This question measures R1.6.1 because it asks students to identify what the texts states explicitly. Students must
determine which action by humans could endanger turtles’ survival.

WHY CHOICE “B” IS CORRECT:

Students selecting “B” show an understanding of the turtles’ guidance system and the need to find water near
where they were hatched. The article explains that they often migrate toward light reflected off the water (lines
31-33). Line 43 states that “at first, the hatchlings swam toward the light, no matter where it was,” explaining
how the turtles swim towards any light after hatching. Finally, the article states that a turtle’s magnetic sense
could be ruined it “hatches on a beach with a bright boardwalk.”

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because line 5 mentions the turtle’s “magnetic sense,” and line 14
compares the turtle’s internal guidance system to a global positioning system. Students may have inferred
that an artificial magnetic field might interfere with the turtle’s guidance system because of the experiment
outlined in lines 37 through 49, but the article makes no mention of interference except that of artificial lighting.

Choice C: Students may have chosen “C” because lines 9 through 13 inform readers that female turtles return
to the beaches where they were hatched. Students may be inferring that the female turtles tend to their eggs
when, in fact, they lay them in the hot sand to hatch on the beach later in the evening. The turtles’ survival
depends on their ability to locate water after they hatch.

Choice D: Students may have chosen “D” because scientists conducting the experiments removed turtle eggs
from their nesting place on the beach and brought them to a control tank. However, the scientists were
conditioning the turtles to follow their guidance system rather than interfering with the turtles’ progress.

HOW TO HELP STUDENTS MASTER RI.6.1:

Choices “A,” “C,” and “D” present actions that are detrimental to the survival of turtles in the wild but that are
not specifically stated in the article. Choice “B” indicates a human action described in the text that is
detrimental to that survival. To help students succeed with questions measuring RI1.6.1, instruction can focus
on building students’ ability to comprehend grade-level complex texts; close reading of the text in order to
identify specific, relevant details that support both implicit and explicit conclusions may also be helpful for
students.
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Key: C
MEASURES CCLS: RI.6.6:

Determine an author’s point of view or purpose in a text and explain how it is conveyed in the text.

HOW THIS QUESTION MEASURES RI1.6.6:

This question measures RI.6.6 because it asks students to identify the main purpose for the author’s inclusion of
Dr. Lohmann’s experiment in the text. The experiment serves to corroborate the idea that turtles’ built-in
compass is activated by light cues. Where turtles hatch determines which direction they will head toward the
water.

WHY CHOICE “C” IS CORRECT:

Students selecting “C” show an understanding of the importance of the experiment and its findings: that
turtles are dependent upon external cues, so their environment plays a large role in whether the turtles’ built-in
compass is activated correctly (lines 48 and 49).

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because the experiment is a sterile, secluded environment where
external factors are carefully controlled, but the environment is not captivity. The researchers who conducted
the experiment are still trying to find ways to protect the natural habitats of the loggerheads (lines 59 through
61).

Choice B: Students may have chosen “B” because lines 37 through 43 detail how the experiment was set up,
and lines 43 through 50 showed what resulted from the experiment. However, the author’s purpose for
including the experiment was to corroborate the ideas in the first part of the article that show that loggerheads
learn to navigate on their own, without adult aid, from the time they hatch.

Choice D: Students may have chosen “D” because line 55 states that Dr. Lohmann has inspired others to work
toward protecting the habitats of the loggerheads. However, this information is additional and not related to
the purpose of the experiment.

HOW TO HELP STUDENTS MASTER RI.6.6:

To arrive at Choice “C” students must understand the experiment and its results in the context of the entire
passage. Choices “A,” “B,” and “D” do not present the experiment or its results in this context, so they are not
supported by the text. To help students succeed with questions measuring RI.6.6, instruction can focus on
building students’ ability to comprehend grade-level complex texts and activities and discussions that ask
students to determine an author’s point of view or purpose in a text and how it is conveyed in the text.
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Key: A

MEASURES CCLS: RI.6.2:

Determine a central idea of a text and how it is conveyed through particular details; provide a summary of the
text distinct from personal opinions or judgments.

HOW THIS QUESTION MEASURES RI.6.2:

This question measures RI.6.2 because it asks students to show an understanding of a central idea of the text.
Students must identify the key idea in the text by recognizing that the passage emphasizes the turtle’s magnetic
guidance system.

WHY CHOICE “A” IS CORRECT:

Students selecting “A” show an understanding of the central idea of the article. The text discusses the turtle’s
built-in guidance system and how it helps it navigate from the moment it hatches. Lines 5 and 6 make clear
that loggerhead turtles have a magnetic sense that guides them from any place on Earth. Finally, the text
points out that this ability is something that turtle can do from the moment it is born.

WHY THE OTHER CHOICES ARE INCORRECT:

Choice B: Students may have chosen “B” because lines 9 and 10 explain that loggerheads can remember
locations they have been to only one time. The turtle’s remarkable memory is a facet of its magnetic sense
and represents a supporting idea, but it is not the central idea of the article.

Choice C: Students may have chosen “C” because lines 47 and 48 allude to the experiment conducted on
the turtles, which caused the turtles to swim toward the west. However, the central idea of the article is that
turtle’s have a built-in guidance system. The experiment just supports the idea that the turtles are guided by
an inherent compass.

Choice D: Students may have chosen “D” because the lines allude to the turtle’s ability to find their way from
anywhere in the world, but the lines also reflect research into other factors that help the turtles find their way,
factors other than their internal compass. The quoted selection is not central to the passage.

HOW TO HELP STUDENTS MASTER RI.6.2:

To select Choice “A” students must recognize that the natural ability turtles have to navigate is the central
idea of the text. Choices “B,” “C,” and “D” present ideas that pertain to loggerhead’s magnetic sense, but do
not best represent this main idea of the text. To help students succeed with questions measuring RI.6.2,
instruction can focus on building students’ capacity to comprehend grade-level complex texts and activities
and discussions that ask students to identify specific details in a text that relate to a central idea.

22



D irections
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Key: B

MEASURES CCLS: RI.6.1

Cite textual evidence to support analysis of what the text says explicitly as well as inferences drawn from the
text.

HOW THIS QUESTION MEASURES RI.6.1:

This question measures RI.6.1 because it requires students to locate evidence in a passage that supports
what the text says explicitly. To answer correctly, students use the evidence from the text to determine the
reason people first created carousels.

WHY CHOICE “B” IS CORRECT:

Students who choose “B” show an understanding of the text and the chronology of the events the text
describes. Lines 19 and 20 say, “The first carousel-like contraption was created in France and designed to
help men practice for their ‘little war’ games.” Lines 26 and 27 offer more evidence with the indication that
the carousels built later in the 1700s were no longer used for training.

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because the text states that in the 1700s, carousels “were enjoyed
for the sheer thrill of the ride.” However, the text also states that the “first carousel-like contraption was created
in France and designed to help men practice for their ‘little war’ games.”

Choice C: Students may have chosen “C” because Gustav Dentzel’s carousels are famous for their carved
animals, which were “lavishly decorated. ” However, this evidence refers to the “the first carousels in America
in the 1860s” rather than the first ones that were first built in France for soldiers.

Choice D: Students may have chosen “D” because the first French carousels were built to practice the “little
war games,” which involved horses. However, the text explains that riders, not horses, “practiced putting their
lances through a brass ring hanging to one side.”

HOW TO HELP STUDENTS MASTER RI.6.1:

While all of the choices for this question refer to the development of carousels, only “B” is accurately based on
the text’s chronology and evidence. To help students succeed with questions measuring RI.6.1, instruction
can focus on building their capacity to comprehend grade-level complex texts, locating evidence to answer
a specific question, and noting the chronology of events within a text. Students can practice this skill by
accurately answering a question and identifying the specific details that provide evidence for that answer.
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Key: B

MEASURES CCLS: RI.6.1

Cite textual evidence to support analysis of what the text says explicitly as well as inferences drawn from the
text.

HOW THIS QUESTION MEASURES RI.6.1:

This question measures RI.6.1 because it requires students to locate evidence in a passage that supports what
the texts states explicitly. To answer correctly, students must locate textual evidence that supports question.

WHY CHOICE “B” IS CORRECT:

Students who choose “B” show an understanding of the text by recognizing the connection between using
steam power and the appearance of more elaborate carousels. Lines 29 through 31 say, “Powered by steam
engines, these carousels moved faster and held more weight than the old model, allowing for a more lavishly
decorated machine.*

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because in lines 31 through 34, lavishness is attributed to the
heavily carved animals and chariots. However the text uses the animals as examples of Dentzel’s elaborate
designs, not as an explanation for why they were possible on the new carousels.

Choice C: Students may have chosen “C” because line 34 mentions the “handsome chariots” made by
Dentzel, “for those who could not or did not want to straddle a horse or other animal.” This textual evidence
provides a description of lavish variety of options on his carousels, but it does not explain what made them
possible.

Choice D: Students may have chosen “D” because brass rings are mentioned in the text from the time of the
early games to the modern carousel era. Although line 38 says that grabbing the brass ring meant getting a
free ride, there is no textual evidence to connect the brass rings with the increased lavishness of the carousels
of the 1860s.

HOW TO HELP STUDENTS MASTER RI.6.1:

While all of the choices for this question refer to characteristics of the elaborate carousels, only “B” accurately
reflects the reason they were made possible — steam engines. To help students succeed with questions
measuring RI.6.1, instruction can focus on building their capacity to comprehend grade-level complex texts
and using evidence to answer text-based question. Students can practice this skill by accurately answering a
question and identifying the specific details in the text that provide that answer.
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Key: C

MEASURES CCLS: RI.6.4

Determine the meaning of words and phrases as they are used in a text, including figurative, connotative, and
technical meanings.

HOW THIS QUESTION MEASURES RI1.6.4:

This question measures RI.6.4 because it requires students to use the context of the entire article to determine
the meaning of a word. To answer correctly, students must connect the change in carousels over time, and
determine how the word “lavishly” contextually indicates a change in their design.

WHY CHOICE “C” IS CORRECT:

Students who choose “C” demonstrate an ability to use the context of an article to determine the meaning of
a word. Line 21 says that early carousels were not as “fancy” as the ones today. The use of the word “lavishly”
in line 31 coincides with a description of Dentzel’s carousels that were “carved and painted” and included
several types of animals.

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because line 30 says that the carousels were faster than the
previous ones; however the sentence continues by referring to the “lavishly decorated machine.” The text
continues with sentences that describe the appearance rather than the movement of the carousel, indicating
that “faster” is not what the word means.

Choice B: Students may have chosen “B” because in line 27 the first carousels are described as “light and
small,” while the carousels powered by steam engines “moved faster and held more weight.” However, there
is no textual evidence describing a difference in the size.

Choice D: Students may have chosen “D” because line 30 says that the newer design “moved faster and held
more weight.” implying that it was stronger. However, these details are provided to explain why lavish designs
were possible, not to describe an implied strength.

HOW TO HELP STUDENTS MASTER RI.6.4:

While all of the choices for this question refer to possible features of the later carousels, only “C” fits the context
of the way the word “lavishly” is used and described. To help students succeed with questions measuring
RI.6.4, instruction can focus on determining the meaning of a word used in grade-level complex texts. Students
can practice this skill by accurately identifying text-based clues to the meaning of a word, and describing how
different words have an impact on the meaning of a text.
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Key: D

MEASURES CCLS: RI.6.5

Analyze how a particular sentence, paragraph, chapter, or section fits into the overall structure of a text and
contributes to the development of the ideas.

HOW THIS QUESTION MEASURES RI.6.5:

This question measures RI.6.5 because students must analyze details in a specified section to determine how
they contribute to the development of an idea in the article. To answer correctly, students must recognize that
a reference to the historical event allows the reader to understand why there was a decline in the number of
working carousels.

WHY CHOICE “D” IS CORRECT:

Students who choose “D” demonstrate an understanding of how a part of an article contributes to the whole.
Prior to lines 40 through 43, the carousel is described as being increasingly elaborate and popular. The lines
about the Great Depression explain why they “nearly disappeared” and provide background for understanding
the information in the remainder of the article.

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because the lines contain descriptions of the abandoned carousels’
condition. However those details are not in reference to the Great Depression, nor is the carousels’ condition a
part of the development of the remainder of the article.

Choice B: Students may have chosen “B” because lines 41 and 42 say that “few people had money to spend
on extras” and line 43 says, “no one could afford to fix them.” However, these details provide information
about the “hard time (that) came upon America during the Great Depression,” not on carousels.

Choice C: Students may have chosen “C” because line 43 says many were placed in storage. However, the
location of the storage is not part of the development of the rest of the article, and there is no textual evidence
to draw interest or attention to the places where carousels were stored.

HOW TO HELP STUDENTS MASTER RI.6.5:

While all of the choices for this question refer to something mentioned in lines 40 through 43, only “D” is
connected to the development of the rest of the article. To help students succeed with questions measuring
RI.6.5, instruction can focus on building their capacity to comprehend grade-level complex texts and
recognizing how a particular idea fits into the development of a text. Students can practice this standard by
explaining the importance of a sentence in understanding the rest of the information provided in an article.

28



Key: C

MEASURES CCLS: RI.6.3

Analyze in detail how a key individual, event, or idea is introduced, illustrated, and elaborated in a text (e.g.,
through examples or anecdotes).

HOW THIS QUESTION MEASURES RI.6.3:

This question measures RI.6.3 because it requires students to analyze the history of the word “carousel” and
determine what that history shows about a modern carousel. To answer correctly, students must connect the
reason for the original use of the word to its current meaning.

WHY CHOICE “C” IS CORRECT:

Students who choose “C” demonstrate an ability to follow information about the meaning of the word carousel
to its modern-day use. Students must determine how its original meaning, “little war,” relates to the description
of carousels built after the late 1700s, when “rather than being used for training, (carousels) were enjoyed for
the sheer thrill of the ride.”

WHY THE OTHER CHOICES ARE INCORRECT:

Choice A: Students may have chosen “A” because both pieces of evidence come from the text. However,
the original meaning of “carousel” is explained in lines 15 through 20, and the text explains that the current
use for carousels is nor enjoyment, not storage.”

Choice B: Students may have chosen “B” because the article describes the elaborately carousels, and then
goes on to say in line 42 that they “fell into disrepair.” However, this choice does not address the original
meaning of the word “carousel.”

Choice D: Students may have chosen “D” because the article describes the beautiful decorations, and says
that they are now used for amusement. However, the text reveals that the lavishly carved carousels were the
same ones that were designed for people’s amusement. In addition, the texts states that the first use of the
word was related to military practice, rather than amusement.

HOW TO HELP STUDENTS MASTER RI.6.3:

While all of the choices for this question refer to characteristics of carousels and evidence in the text, only “C”
is based on an accurate analysis of the history of the word “carousel.” To help students succeed with questions
measuring RI.6.3, instruction can focus on analyzing the development of an idea from its introduction to its
final mention in grade-level complex texts. Students can practice this skill by accurately describing the way an
idea is presented at different points in an article, and use textual evidence to justify their descriptions.
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Key: A
MEASURES CCLS: RI.6.6

Determine an author’s point of view or purpose in a text and explain how it is conveyed in the text.

HOW THIS QUESTION MEASURES RI.6.6:

This question measures RI.6.6 because it requires students to recognize the author’s point of view as it’s
conveyed in the article. In order to answer correctly, students must find evidence that describes the author’s
point of view and identify this viewpoint based on the evidence.

WHY CHOICE “A” IS CORRECT:

Students who choose “A” demonstrate an ability to use evidence when identifying the point of view of the
author. The details the author provides describe carousels as a unique and important piece of history, from its
early beginnings, to their near disappearance, to their current resurgence. Additionally, the author presents a
history of the carousel’s development using sentences like, “What a wonderful ride!” (line 6) and phrases like,
“the sheer thrill of the ride” (lines 26 and 27).

WHY THE OTHER CHOICES ARE INCORRECT:

Choice B: Students may have chosen “B” because, based on the final paragraph, the author provides details
about the efforts to restore and preserve carousels. Although “over 150” are back in service, the author’s belief
that the work is complete is not conveyed by any of the textual details in the article.

Choice C: Students may have chosen “C” because lines 25 through 28 offer a complimentary picture of
European carousels. However, the author does not compare their beauty with other carousels, and details in
the text indicate that the first in America were “more lavishly decorated.”

Choice D: Students may have chosen “D” because the article credits the association (along with the
American Carousel Society) with providing money and services to save abandoned carousels. However, the
author’s opinion about whether the National Carousel Association should be doing more is not conveyed in
the textual details of the article.

HOW TO HELP STUDENTS MASTER RI.6.6:

While all of the choices for this question refer to a possible point of view, only “A” is conveyed clearly by the
details in the article. To help students succeed with questions measuring RI.6.6, instruction can focus on
building their capacity to comprehend grade-level complex texts and determining what several details
convey about the author’s point of view. Students can practice this skill by stating a point of view that is
conveyed by a variety of sentences from an article, and defending this claim with evidence.
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D irections
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Young ladies in town, and those that live round,
Let a friend at this season advise you:

Since money'’s so scarce, and times growing worse
Strange things may soon hap and surprize you:
First then, throw aside your high top knots of pride
Wear none but your own country linnen:

Of Oeconomy boast, let your pride be the most

To show cloths of your own make and spinning.
—A popular song in Boston in 1767
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MEASURES CCLS: RI.6.3:

Analyze in detail how a key individual, event, or idea is introduced, illustrated, and elaborated in a text (e.g.
through examples or anecdotes).

HOW THIS QUESTION MEASURES RI.6.3:

This question measures RI.6.3 by asking students to analyze how the events described in lines 1 through 6
relate to the decisions described in lines 7 through 15. Students who successfully answer this question
demonstrate an understanding of cause and effect and how the British government’s need for funds led them
to impose taxes on the colonies.

CHARACTERISTICS OF RESPONSES RECEIVING FULL CREDIT:

Responses receiving full credit include a well-supported analysis of the situation, including what caused the
need for funds and what the eventual outcome was. Situations such as Britain’s war debt and their need for
more money to fund “peacekeeping” forces in the colonies may be mentioned as causes for the taxes that
King George lll imposed on the colonies. As a result, the imposed taxes became a cause for the dissention
that arose in the colonies. Evidence that may be cited is that Britain acquired a national debt of 133 million
pounds funding the French and Indian War. Having secured the borders, they needed money to fund
“peacekeeping” forces they planned to move to the colonies. Colonials wondered why they needed British
forces to govern and protect them when they could do the job themselves.

There is no single “correct” response, but rather responses that are defensible based on the Short-Response
(2-point) Holistic Rubric, and responses that are not. Student responses are evaluated on the relevance,
accuracy, and sufficiency of conclusions, inferences, and supporting details. Responses should be organized
in a logical manner and composed in complete sentences. Where errors are present, they should not impact
readability.

HOW TO HELP STUDENTS MASTER STANDARD RI.6.3:

To help students succeed with questions assessing standard RI.6.3, instruction can focus on building students’
capacity to comprehend grade-level texts through activities and discussions that ask students to analyze how
key events in a text are introduced, illustrated, and elaborated throughout the text.

See Short-Response (2-point) Holistic Rubric, suggested sample student responses and scoring: two 2-pt
responses, two 1-pt responses, and one 0-pt response.
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How does the information in lines 1 through 6 relate to the information in lines 7 through 15?
Use two details from the article to support your response.
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Score Point 2 (out of 2 points)

This response makes a valid inference from the text to explain how the information in lines 1 through
6 relates to the information in lines 7 through 15 (cause and effect). The response provides a sufficient
number of concrete details from the text for support as required by the prompt (the British decided
to put tax in essentials such as tea since they were broke and the Americans was insulted in a way and
decided to break off their relationships with the British government). This response includes complete
sentences where errors do not impact readability.
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How does the information in lines 1 through 6 relate to the information in lines 7 through 15?
Use two details from the article to support your response.
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Score Point 2 (out of 2 points)

This response makes a valid inference from the text to explain how the information in lines 1 through
6 relates to the information in lines 7 through 15 (1 through 6 are the cause and the information in lines
7 through 15 are the effect). The response provides a sufficient number of concrete details from the
text for support as required by the prompt (The war between the Brithish and France made the Britains
broke which made them put taxes on items and Colonists were upset with the taxes so they vowed to
manufacture their own items). This response includes complete sentences where errors do not impact
readability.
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How does the information in lines 1 through 6 relate to the information in lines 7 through 15?
Use two details from the article to support your response.

Score Point 1 (out of 2 points)

This response makes a valid inference from the text to explain how the information in lines 1 through
6 relates to the information in lines 7 through 15 (1-6 build up to the point in which the story talks about
how people protested against England); however, the response only provides some information from
the text for support as required by the prompt (The text includes facts about why people started to
protest. Lines 7 through 15 discuss peoples’ thoughts about the protest). This response includes complete
sentences where errors do not impact readability.
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